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#include <SoftwareSerial.h>
SoftwareSerial mySerial(2, 3); // RX, TX

void setup() {
Serial.begin(9600);
mySerial.begin(9600);

}

void loop() {
mySerial.print("0123456789");
Serial.println("0123456789");
delay(1000);

}
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#include <SoftwareSerial.h>
SoftwareSerial mySerial(2, 3); // RX, TX

void setup() {
Serial.begin(9600);
mySerial.begin(9600);

}

void loop() { // run over and over

if (mySerial.available()) {




Serial.println("");
while (mySerial.available()) {
Serial.print(char(mySerial.read()));
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#!/usr/bin/env python

import time
import serial

ser = serial.Serial(
port='/dev/ttyS0',
baudrate = 9600,
parity=serial. PARITY NONE,
stopbits=serial. STOPBITS_ONE,
bytesize=serial. EIGHTBITS,

timeout=1

)

counter=0

while 1:
#3% 2 UART 7 #L
x=ser.readline()
print x
#% » ¥4 5] UART
ser.write('Write counter: %d \n'% (counter))
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